(mucociliary transport system)
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Fig. 2. Cumulative amount of fluorescein eliminated into the esophagus after nasal
A AN AU R administration of F/MCC formulations (mean £ SD, n = 6)
for in vivo studies in the rabbits
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Fig. 3. Plasma fluorescein (F) concentration-time profiles of operated (n = 6) and MCC, 153.3 ug/hcad for HPC, 114.9 ug/head for PP, and 108.7 ug/head for lactose (mean x

control (n = 5) rabbits after nasal administration of F/MCC formulations. The dose SD, n = 6).
was normalized to that of the operated group. Bars indicate SD.
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Fig..5 Cumulative amount of fluorescein eliminated into the esophagus after nasal . i R L N
Fig. 6. Cumulative amount of carriers climinated into the esophagus after nasal

administration with various carriers. The average F dose was 133.2 ug/head for MCC, L.
administration (mean + SD, n = 6).

153.3 ug/head for HPC, 114.9 ug/head for PP, and 108.7 ug/head for lactose (mean + SD,

n=6).





